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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is a Research Design ?

e AT 7 B 7
Options :
A way of conducting research that is not grounded in theory.

| 9T T =H1 Ueh oelehl, = [esid 9¢ AT o =7 |

The choice between using qualitative or quantitative methods.

5 3 JOTHE A THTOTHS TE a9l & 3UANT & 959 g |

The style in which you present your research findings e.g. a graph.

g% S fEE A e e | B W S &g E - 3T |

3. %

A framework for every stage of the collection and analysis of data.

" HFHST & Hebad AT G999 & UE Y H [0 U BT |

Question Number : 2 Question Id : 59345212449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The study design of collecting data at a particular point of time is called :
[FE1 9T 999 O 97 ATHs HIBU I Il ASEE AR BRIl
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Options :



Cohort study

%

HEA0T g (FEE =El)

1. =

Trend study

EISEeEIpE

Cross sectional study

, =T q (FHFRE) a9

Longitudinal study

Lx T Je= (SrdeRIfeTer) A=EE
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Question Label : Multiple Choice Question

The value of middle position in a distribution of values is called :

=

qHei & [gaver § 799 i B0 "9 FHeal 5

Options :
Mean

1. % =

Median
5 o TR



Mode
23 = :_5|;F1I'E

3.
Mid-point
L % HE-dg
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to pursue research, which of the following is priorly required ?

9 I AN Fo &% [0, EEfangd § 9 [FEsl 989 STEsgeddr Bl

8 !

Options :
Develop a research design
| % S SATHETT F fahE

Formulate research questions

5 o ST TEST BT Ao

Deciding about the data analysis procedure
y » GAHST 8090 uikar & 9 | UE

Formulating a research hypothesis

, % S OHERTIET HHET HIAT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the IG]IG‘MHE is a basis of the quality of a research journal ?
Te=TfeTiET H | e g 9i=e # OEwn B AN D 5
Options :

Impact factor
| o T T
h-index

g-index
-5

il 0-index

4w 110-ZSFH
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Question Label : Multiple Choice Question



If the population is heterogeneous, which one of the following probability sampling
methods will be suitable ?

AT AT FEaE ®, a1 Heiaiag § § RE-H geear gfasel &iy
AR IUGFT 20T 7

Options :
Sequential sampling
FHHTIHTT A=+

1. ®

Quota sampling
A SERE]

Double sampling

-

‘-'t”_z -.l ﬂri-. ,-q'q;

Stratified sampling
ST afa=4a4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Manipulation is a part of :

L= =
Uegdd- ......v.... chl [.],'ﬂa = l 5 |
Options :

Historical research

| % UTC=IEs ST



Fundamental research

2. % AlfeT 21

Descriptive research
« dUHTHE 91T

3
Experimental research
4 THEIETE ST

Question Number : 8 Question Id : 59345212455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
p-value stands for :

= Ty T =
-9 | 9199 7

Options :
Probability value

| SHE

Preference value

) % LA H

Pre-determined value

| TE-TEIT e



Prescribed value

4, 5
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Question Label : Multiple Choice Question
R” is known as the :

"~

R AT ..., F =7 § AET AT 2

Options :
Coefficient of determination
- =TT BT I[OTiF

Multiple correlation coefficient

TE-FEEH U

Partial correlation coefficient

AN FET= UNH

Semi-partial correlation coefficient

HA-ANNF TS oM
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of null hypothesis, when it is true, leads to :

ST OERETHT SRIIEd 2 S Sdih T8 JF 2 ..., I NI Ll
Z |
Options :
Sampling Error
1. # PI:TJ '._J]'-._'

Type 1I Error

[
cizd II JId

2. %

Type 1 Error

o TR I e

Estimation Error

« -Bilﬂ_ﬂl-_—l ';]JIFI
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Question Label : Multiple Choice Question

Which of the mllomng is first stage | in Grounded Theory data analysis :

FI"“'_-I'I_FI"'_J'_‘TIT o UT38S ANl @ 3-1I’Jr.r [ ESEE9T & 99H =99 HiF-H1 Sl

ap

Options :



Examination
_ BEAEE |

Open coding
2 W “gf‘:l E"Q_r‘r “I:-"E

Retardation
3 % AT

Comparison
4, % ST

st
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The area of the rejection region for a two-tailed test in comparison with area of the one-
tailed test for the same level of significance will be :

o Tg-g=sig Oderor #r e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
Smaller

| & A



Same
HHE BN

Larger
TST BRT

One-fourth
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Question Label : Multiple Choice Question

Basic research is :
qifeTsh T 2 2
Options :

Practical and descriptive

Client-driven
5w JTEE-UT

Expands current knowledge
3 o TUAAE T BT T B i

Advancement of technology

4 % JENRTER F 30 @ 91
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Question Label : Multiple Choice Question

The technique in which an individual is presented with a stimulus and asked to respond
with the first thing that comes to mind is known as :

TE A TEH ZiE ® HEA UF Soel 9Ed H Sl 2 AR IRl
e S REET H AR B, I9E 9" 4 ® [0 wE A B, H S

= e
a2

Options :
Completion techniques
IR ERIE7

l. %

Focus groups

Association techniques
o =TT THATE

3.

In depth interviews
Tled Hidlthi

4,
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Question Label : Multiple Choice Question
An Independent variable is defined as :
OF o =7 FH 9fEnad AT S e 2o
Options :
Change variable

| THECAeT =Y

Confounding variable

) % qHT 97

Extraneous variable

3 % AT =T

Outcome variable

4 % THOTH =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false for Research ?
frfatad & § ®E-91 F99 8994 & a0 qom = 7

Options :

Research design is a logical and systematic plan for a research study

AJHEAH ATHR M FASIA F; A0 OF ANk AN TGRS 2

1. ®



Applied research is conducted to solve theoretical problems

, v GEI-aE FEHEAT B BT HIA & [0 AERNE AJEIH HET AT 2

The basic research is also called as fundamental research

3%gﬁrfeﬁaaﬁﬂﬂ—nﬁ”{w STe o1 FH=T AT =

A hypothesis is a statement that is tested for its validity

4 % TSI U B & [STeehl I 1 I A S 8
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Question Label : Multiple Choice Question

A researcher has administered some drug for management of diabetes for 4 weeks in a
group and measured pre and post data for blood glucose level. Which statistical tool will
be used to analyze data ?

UF NGFRdl I UF 998 H 4 99= & 0 qgHE & U999 F A g oadn
S1 B S YA 9 & U9 AW AR & Wl B J199 GhET | Ot SiEST &
sy & fom T

hE ST i3 =1 I99RT =har S 7
Options :
Paired '’ test

AT E-TETe

1.¢

Independent t-test
5 % T T




ANOVA test
3, %

Chi-squire test

ST JEIEOT
4, %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a qualitative variable ?
1 & § ®F UF OIS F7 7 7

Options :
Colour of hair

1. ¢ .E|||:r|' =hl _'FT

Body weight
, w STEIE 47

Body height

P - r
3 % M Hdlg

Percentage of haemoglobin

4 % ETARCTES 1 Afaer
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Question Label : Multiple Choice Question

A researcher should consider which of the following to prepare good research
proposal ?

UF SESAl W F=ST Y IR o9 @i & oo Mererag § " @E

(a) Research question should be novel

9T Uee H4 BT =E0

(b) Research protocol should be ethical and relevant

HATHA UIerEpe Hids AT AEHEE BET =l

(c) Research question should be interesting and feasible
S UsH RBo=ed 3T =gsE 5FT FeT

(d) Researcher should consider only his'her own interest and benefit

STIRdl Hl Had ATAT =FH T BT UaH @9 9% G917 FHAT Fiieg
Options :

a & d are correct
L% aATdH2 2

¢ & d are incorrect
, % CHATdTET &

a, ¢ & d are correct



a, b & ¢ are correct

A Ja,b?ﬂ' TcHsl &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Why reviewing the existing literature is needed ?
HISTeT |Macd 1 GHIE 3 H AEFGTRdT F=i 2 7

Options :
It does not provide references
T= HeHAl Hl U= A&l HLal

1. %

It does not provide required word-count
5 % FATIIIH T TR ol

To find out what is already known about area of interest
v T2 O & U i s & a9 & 9 | usd | #4052

3
To help in non-related disciplines
, x TS fqEAt § "AE w7 & o
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Question Label : Multiple Choice Question
Which one is called non-probability sampling 7

EhY TEHT=AT U= shal Siar 2 7
Options :

Quota sampling

| I giq=aa

Cluster sampling

, x 78 Oia=a

Systematic sampling

s % AT Ui

Stratified random sampling

4 % OPHT AGEEE i
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Random error can be effectively handled by :
AGEsE S Bl ....eeenn.. ST THET B9 F e A S E@ar 2

Options :
Adequate sample size
3OS FAHAT TR
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Randomisation

) x TEEHTT

Blinding

| w SAIHTIT

Representativeness

4, ® I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The correct definition of h index is :

Options :

Largest number h such that h publications have at least h citations
| » T4 FE1 FA h 59 5 h UHEEl § BH H HH h SgEIOT 2

Lowest number h such that h publications have at least h citations
999 ®HH ST h 59 5% h IHe= ¥ FH F HF h IgEEOT B

2. ®

Total number of citations divided by the total number of publications
IEHYON T T EEAT B TR F B AT § TG w9

3. %



Another name for impact factor
o THEI FEE FH T AH

4,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a reference management tool ?

-

a5 § Hi9 §@ed Ugad 3969 J87 5 ¢
Options :
EndNote

l.

Zotero
Mendeley

- -
3. % HEC

Scopus
~hHIUH
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Question Label : Multiple Choice Question



Mean, Median and Mode are :
A1, A=H] AN G5aF 5
Options :

Measures of dispersion
| s TETOT T AT

Measures of central tendency

Feld Jg T "I
2. =

Measures of probability
s w SHATEEAT FH/ AT

Sampling methods
4w TTCEAT [
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Question Label : Multiple Choice Question

What is the appropriate measure of dispersion to report when median is reported as the
measure of central tendency for a given set of data ?

FOrE 3 & U F=gad & 39ge 39 T & Sfd ’ieIET & Alws! &
U HYE & [0 FEF U9 & #99 F &7 H Uge RA ST B 7

Options :
Standard deviation
| % HEE aEe




Interquartile range
» FATFFAF TR

2.

Variance

3. % A=Y

Coefticient of variance

.

, % TEEEOT B IO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Open ended group discussion that promotes discussion among participants is
called .............. :

FgaiT (HA99 U2 J9) == S 9iduiiEl & dE" ai=Er B gedl od E,
EBART B evevereerennones

Options :

In-depth discussion

e ==l

1. #

Focus group discussions
, » PIHE JT ==



Participant observation
y x JICTHRT ST

Structured interviews
, % SET AT
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Question Label : Multiple Choice Question
The ability of a tool to correctly measure what it is supposed to measure is called as :

FRET IURTOT/EET &1 THH 3899 & OUA &% [0 UART Bl YEl 2 3%

HE-EE] A1 H &HdT FEan 2
Options :
Validity

ljaaﬁT

Reliability
, w [FETEATEA

Consistency

3. % HTIC

Accuracy
4 23 ?:l_'_':—lr: Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental study of the effects of time spent on studying on grade, time spent
studying would be the :

IS 97 HHIT H Fdd J99 & TEEl & UF TENE FAEaT J, AT
H EaET T qJ9T BRT G

Options :

Control group

[ndependent variable
5 @ A =TT

Experimental group
O HJHE

3. %

Dependent variable

4 % AR =7
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Question Label : Multiple Choice Question



A reasoning where we start with certain particular statements and conclude with a
universa] statement is called :
U O SRl BH B @9 HEdl § 8% g 5 AR UF HEHHE HET

=

% | ey MeRed 2, el 2 oo
Options :

Deductive Reasoning
| % TTHATHS T6

Inductive Reasoning
5  ATTHATHE Th

Abnormal Reasoning
, % FEMEN TH

Transcendental Reasoning
4w TRTGHAEE T
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Question Label : Multiple Choice Question
If a distribution is described as pl'lt}fl\urllc then it is :
e TTHT [Aavor @ wielgiicd (F9ed FHR[I) & &9 H aid @ S #,
ar s &
Options :
Peaked

=

1. % TICler




Flat
2. & HHIC

Bimodal
3w EIEND
Thin
4, % O

Question Number : 32 Question Id : 59345212479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question

In a statistical table the row headings are referred to as :
O HivASHE arfass H, 9T Sigei B HET S 2
Options :

Source note

| x 9T ST

Captions

- e (AgeluE)

Stubs
= (T3)



Body
ST

Question Number : 33 Question Id : 59345212480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following techniques are used to control extraneous variables in research ?
HAIEIH H gEd = B FEET B & oo Meieigg § F W e
W[ ITERT THAT AT E 7

Options :
Change of instrument

CICEEG AN I EG

1. %
Randomization

2 @ NEHIT

Change the research method
AGEE faiEET ° aivacd

3. %

Parameterization

, w TTEIESTE (STHYo)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is the information and library network under UGC ?

TSIEl & dad aiad 5 8 HE-91 21 AR TAdad Hedd 5 ¢

Options :
INFLIBNET
1. v UIEHT

NISCAIR
9 % rl‘-'. Jf-—:l.-"':l {

Association of Indian Universities
3 % HaT [aegiaenaar 1 99

NAAC
4% TP
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A research tool consisting of a series of questions is known as :
Ul W UH cjEal § A UFH §UT ITHIOT B FHET ST B

Options :
Observation schedule
| x FEACIEA ST




Interview schedule
HIEATRT A

2. %

(Questionnaire

e

3 PEEIEII]

Psychological test

4 s TS e
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



What does a good thesis involve 7

(a) Reducing punctuations as well as grammatical errors to minimal level.
faeE-T==] To1 =0T FYEdl H FHedqq TT 99 HH AT |

(b) Correct reference citation.
YT Jed 3mA |
(c) Consistency in the way of thesis writing.

AiEd oEs & T H FEd |
(d) All of the three
r fl ﬁ_ =
Choose the correct answer from the codes given below :
A " T e § H @er W g
Codes :
s

Options :
a,b,candd

| v &b, cTATd

a,candd

) a,cdard

a, bandc

S@a,bﬂ"?‘ﬂc



c.,bandd

4 % CbTAT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The difference between the expected value of a sample statistic and the estimated value

of parameter is called :

)

-, - -,

THAT ADSI & FAUET o AN UEA ® AJANG god & 9= @ HAWL
Options :

ap

Error

Contradiction
R IR
3. %
Difference

4%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Among the following, widely used method for extracting factors is :
Tfarad # H, TEH B e & 0 &S T9 H SEEE @ A
i 9 &
Options :
Path analysis

| T ST

Discriminant analysis

% — i
TaYes fgeeaor

Group analysis

Principle component analysis

THE-Ted [geedo]
4073 ’
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Question Label : Multiple Choice Question



Study the following given graph and answer the question :
(e b I IR s 2 1 T P = =2 2 o B 1 | e L 2 S o = ) B s s A1 1 LU
1200 —i)

1150 ===

10| 4T )

1050 /] et

1000 |
950 — -
900 . -

850
800

PRICE IN RS

Jan  Feb Mar Apr May [June July Aug
MONTHS

What was the price difference between commodity A and B in the month of April ?
FYUA ® HeA H A A AT B ® I/ Hed I HwL g4 o7 7

Options :
| % 250

, o 150

3 % 100

4w 90
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question :

AT OM% 1 He=gd" HIAY 9T 999 H I9L @iy
1200 =i}

1150 —etB |

1050 / et

1000

PRICE IN RS

950 . AN
900 -
850
800

Jan Feb Mar Apr May June July Aug
MONTHS

What was the difference in average price between commodity A and B from April to
August ?
FUA H I T AHIAT A FZ B & HET 99 H HaAr Fe7 91 7

Options :

L% 90

, % 86

L% 9

VL
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

All among the following are ionizing radiations except :
Options :

| ® Alpha rays

5 % Beta rays

3 % X-rays

4 MRI



Question Number : 42 Question Id : 59345212489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the mechanism of heat loss in modern X-ray tubes ?
Options :

| Radiation

, % Conduction

3 % Convection

4 % Evaporation

Question Number : 43 Question Id : 59345212490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the active ingredient of an X-ray film ?
Options :

L% Silver chloride

) Silver bromide

3 % Silver nitrate



4% Silver fluoride

Question Number : 44 Question Id : 59345212491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

How can the penetrating power of the X-rays be increased ?
Options :

| & by increasing frequency

5 % by decreasing frequency

3 % by increasing wavelength

4 % by decreasing velocity

Question Number : 45 Question Id : 59345212492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Doppler effect is the relative change in the :

Options :
5, amplitude of sound

,  lrequency of sound



5 % direction of sound

4 % phase of sound

Question Number : 46 Question Id : 59345212493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the metallic shielding used in the MRI rooms called ?
Options :

L% Maxwell cage

) Faraday cage

3 % Edison cage

4 » Ohms cage

Question Number : 47 Question Id : 59345212494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the findings are unlikely in a patient with achondroplasia ?

Options :



| % Bullet noseshaped vertebra

5 % Chevron sign in the epiphysis

3 % Trident hand

4 Tomb stone appearance of acetabula

Question Number : 48 Question Id : 59345212495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the dense zone of calcification seen at the metaphysis in scurvy ?
Options :

L% Wimberger's ring sign

, w Pelkan's spur

3@ Frankel's line

4 % Trumerfeld zone

Question Number : 49 Question Id : 59345212496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

What is the best chest X-ray view to visualize the right lung ?
Options :

L% Right anterior oblique

) Left anterior oblique

3 % Right posterior oblique

4% Left posterior oblique

Question Number : 50 Question Id : 59345212497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

All of the following can be seen in patient with pneumothorax except :
Options :

L% Deep sulcus sign

) Mediastinal shift to ipsilateral side

3 % Area of hypertranslucency on ipsilateral side

4 % Collapse of ipsilateral lung
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A patient presented with pleuritic chest pain and absent breath sounds on right side.
Pleural effusion is suspected. What is the best chest X-ray view to diagnose this
condition ?

Options :

|« PAview

5 % Right anterior oblique

3 % Left anterior oblique

4 Lateral decubitus

Question Number : 52 Question Id : 59345212499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Split pleura sign is seen in :

Options :

| ® Pneumothorax

. Pleural effusion
2. %



3 Empyema

4% Hydropneumothorax
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the best view to visualize middle lobe pathologies ?
Options :

% Left anterior oblique

, » PAview

iC view
3 Lordotic vie

4% Oblique view

Question Number : 54 Question Id : 59345212501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The chest radiograph of a patient showed silhouetting of the left border of the heart.
Pathology of which part of the lung does this indicate ?

Options :



L% Right lower lobe
) % Hilar
5 % Apexof the lower lobe

4  Lingula

Question Number : 55 Question Id : 59345212502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

True about Kerly A lines :
Options :
L Radiate from hilum of lungs

» % Runs perpendicular to pleural surface and extend out to it
3 % Has spider web appearance

4 % Short lines which do not reach the pleura

Question Number : 56 Question Id : 59345212503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Which is the most common site of sequestration of lung segment ?
Options :
| % Apical segment of the right upper lobe

5 % Apical segment of the left upper lobe

3 Posterobasal segment of the left lower lobe

4 % Posterobasal segment of the right lower lobe

Question Number : 57 Question Id : 59345212504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is frue regarding PET scans ?
Options :
| % [t uses gamma emitting radioisotopes

, w Itis used for 2D image reproduction

5 % Lead collimators are used

4« Itcan be used for hybrid imaging
Question Number : 58 Question Id : 59345212505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the compounds are used in PET scan ?
Options :

Y Fluorodeoxyglucose

» % Technetium prtechnate

5 % Thallous chloride

4 % Gallium citrate

Question Number : 59 Question Id : 59345212506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Principle of PET scan is :

Options :

L% Single photon peak at 511 keV

) Dual photon peak at 511 keV

3 % Single photon peak at 211 keV

L% Dual photon peak at 211 keV



Question Number : 60 Question Id : 59345212507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following has maximum ionizing potential ?
Options :

Electron

5 % Proton

3 Helium 1on

4% Gamma-photon

Question Number : 61 Question Id : 59345212508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the earliest gestational age at which anencephaly can be screened ?
Options :

10-12 weeks
1. ¢

5 % 12-14 weeks



3 % 14-16 weeks

L% 16-18 weeks

Question Number : 62 Question Id : 59345212509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A young girl with primary amenorrhea is being evaluated for the presence of a congenital
uterine anomaly. What is the gold standard investigation to detect the same ?

Options :

L MRI

, w CT

, » USG

, » HSG

Question Number : 63 Question Id : 59345212510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not an IVP finding in patient with renal papillary necrosis ?

Options :



_ Lobster claw sign

, % Forniceal excavation

3 % Signet ring

4 Ball and socket
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A patient is undergoing nephrogram. Two minutes after administration of contras, both
kidneys are visualized. After 10 minutes of contrast, only the left kidney is visualized.
What is the likely diagnosis 7

Options :

Acute ureteric obstruction
1. ¢

5 % Hydronephrosis

3 % Acute complete arterial obstruction

4% Polycystic kidney disease

Question Number : 65 Question Id : 59345212512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the earliest radiographic finding in patients with genitourinary tuberculosis ?
Options :
Moth eaten calyces

. Golf ball on tee sign
2. % #

Lobster claw sign

4% Ring sign

Question Number : 66 Question Id : 59345212513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

USG in a 40 years old woman showed the wall echo shadow sign. What is the most
probable diagnosis ?
Options :

| % Acute cholecystitis

) Chronic cholecystitis

; » OB adenomyomatosis



4 % OB cancer
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Abdominal USG in a patient with pruritic jaundice revealed double barrel sign. What is
the most probable diagnosis ?

Options :

| % Cystic duct obstruction

) CBD obstruction

_ Acute cholecystitis

4% Gall bladder cancer

Question Number : 68 Question Id : 59345212515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Abdominal USG in a 50 yrs old male with right upper quadrant abdominal pain revealed
comet tail sign. What is the most probable diagnosis ?
Options :

_ Acute cholecystitis



, % Chronic cholecystitis

: SIS
3 GB adenomyomatosis

. Cholelithiasis
4. %
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Question Label : Multiple Choice Question

A patient with chronic alcoholism presented with nausea, vomiting and abdominal pain.
Hs lab results showed elevated serum amylase and lipase. Which of the following signs
are unlikely to be seen in the radiograph of the patient ?

Options :

_ Colon cut off sien
1. ® -

5 % Sentinel loop sign

3 ® Preserved renal halo sign

o
4 Grey turner sign
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the investigation of choice to assess the prognosis of patients with acute
pancreatitis ?

Options :

L% MRCP

, » ERCP

3 o CECT

, % EUS

Question Number : 71 Question Id : 59345212518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question

Which of the following conditions is associated with a spongy appearance with sunburst
calcification on the CT abdomen ?

Options :

_ Pancreatic adenocarcinoma

5 % Mucinous cystadenocarcinoma

Adenosquamous carcinoma



v Serous cystadenocarcinoma of pancreas
4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Physiological calcification is seen in all of the structures except :
Options :
., Pineal oland

) % Habenular commissure

Dura
3. %

Red nucleus
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Question Label : Multiple Choice Question

Bracket calcification on skull X-ray is seen in :
Options :

- Tuberous sclerosis



5 % Sturge weber syndrome

" Lipoma of corpus callosum
3.8

Meningioma
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In children what is the most common cause of suprasellar enlargement with
calcification ?

Options :

| Craniopharyngioma

Astrocytoma
% 3
. Rathke cleft cyst

Suprasellar tuberculoma
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Question Label : Multiple Choice Question

CSF spread can occur in patients with all of the following tumors, except :
Options :
L% Medulloblastoma

5 % Ependymoma

- Oligodendroglioma

Meninzgioma
4, & L
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the most common primary malignant brain tumor seen in childhood ?
Options :

Astrocytoma
1. % i

) Medulloblastoma

- Ependymoma

4% Craniopharyngioma
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following findings would you not see on the skull X-ray of a patient with
meningioma ?

Options :

L% Calcification

5 % Hyperostosis

3 % Increased vascular markings

4 Erosion
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Question Label : Multiple Choice Question

A patient is found to have a cerebellopontine angle mass. The differential diagnosis can
include all except :

Options :

_ Meningioma

» Acoustic neuroma



3 Tuberculoma

4 % Epidermoid cyst
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Salt and pepper sign is seen in patients with which of the following conditions ?
Options :

| % Meningioma

) % Schwannoma

3@ Paraganglioma

4% Ependymoma

Question Number : 80 Question Id : 59345212527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The hot cross bun sign on MRI would be seen in patients with which of the following

conditions ?



Options :
Multiple system atrophy type c

Multiple system atrophy type p
Progressive supranuclear palsy

L% Bovine spongiform encephalopathy

Question Number : 81 Question Id : 59345212528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

During MRI brain scan of a patient, the radiologist notices absence of swallow tail
appearance. What is the likely diagnosis ?

Options :

| % Wilson's disease

) % Progressive supranuclear atrophy

3 Parkinson's disease

4% Multiple system atrophy

Question Number : 82 Question Id : 59345212529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following may nof present with a ring enhancing lesion on imaging ?
Options :

. Tuberculoma
1. %

) % Toxoplasmosis

" Brain abscess

4 Primary CNS lymphoma

Question Number : 83 Question Id : 59345212530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the most common site of hypertensive bleed in the brain ?

Options :
L Basal ganglia

“ Cerebellum

3 % Pons



4% Thalamus

Question Number : 84 Question Id : 59345212531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A puff of smoke appearance was seen on the cerebral angiography of a patient. What is
the likely diagnosis ?

Options :

| ® ACA aneurysm

, % Cavernous sinus thrombosis

3 Moyamoya disease

4 % Veinof galen malformation

Question Number : 85 Question Id : 59345212532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the best imaging study for earliest diagnosis of cerebral infarct ?
Options :
| % FLAIR MRI

) % Non contrast CT



3 % CECT

4« Diffusion weighted MRI

Question Number : 86 Question Id : 59345212533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The empty delta sign is seen in which of the following conditions ?
Options :
|« Cerebral venous thrombosis

, % Intracerebral hemorrhage

5 % Subdural hemorrhage

4 % Cavernous sinus thrombosis

Question Number : 87 Question Id : 59345212534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
An X-ray is done for a patient with a knee swelling and a lesion is noted to have a soap

bubble appearance. Which of the following is false about the condition he is likely

suffering from ?



Options :
[t commonly presents in the 20-40 years age group

5 % Ego shell crackling is seen on palpation

5 Osteoclastic giant cells form the proliferative component of the tumor

[t can produce lung metastasis

Question Number : 88 Question Id : 59345212535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the most common malignant lesion of the bone ?
Options :
Multiple myeloma

) % Ewing's sarcoma

Metastases
3.8

. Ostepsarcoma
4. %

Question Number : 89 Question Id : 59345212536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the technological basis of a spiral CT ?

Options :

- Gantry

i 1ne
) Slip ring

_ Multi detectors
3. %

4% Couch

Question Number : 90 Question Id : 59345212537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is an iso-osmolar contrast ?
Options :

L% Omnipaque

5 % Optiray

3 % loxaglate



4 lodixanol

Question Number : 91 Question Id : 59345212538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who is the father of CT scan ?

Options :
Hounstield

Roentgen
Cormack

4 % Tesla

Question Number : 92 Question Id : 59345212539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is water soluble contrast ?
Options :

L ¢ [ohexol



Barium

Bromium
o

4% Calcium

Question Number : 93 Question Id : 59345212540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the investigation of choice for evaluating a lactating woman who presented with
a painful breast lump ?

Options :

|« USG

, % CT
, = MRI

4 % Mammography

Question Number : 94 Question Id : 59345212541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Among following, which isotope is used in nuclear scanning ?



Options :
| Tc 99m

, % 1125

3 u Cs 137

4 % 1192

Question Number : 95 Question Id : 59345212542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a device used to image gamma radiation in scintigraphy ?
Options :

| % Gamma camera

» w Scintillation camera

3 % F’LI‘IgEI' camera

Photon camera
4. ¢

Question Number : 96 Question Id : 59345212543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

Which of the following signs seen on barium studies in patients with ileocaecal Tb ?
Options :

L Fleischer sign

5, % Frimann dahl's sign

5 % Diamond sign

4 % Target sign

Question Number : 97 Question Id : 59345212544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the earliest sign seen on double contrast barium enema study in
patients with ulcerative colitis ?

Options :

L Mucosal granularity

Loss of haustrations
2. %

Mucosal stippling

4% Lead pipe appearance



Question Number : 98 Question Id : 59345212545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the most probable diagnosis in a neonate presenting with
hydrocephalus and high output cardiac failure ?
Options :

- Tuberculous meningitis

Moyamoya disease
Vein of gallen malformation

Joubert syndrome

Question Number : 99 Question Id : 59345212546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

CT brain of a patient shows pancake brain sign. What is the likely diagnosis ?
Options :

Holoprosencephaly
L& P ephaly

Lissencephaly



3 % Schizencephaly

Porencephaly

Question Number : 100 Question Id : 59345212547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hilar dance was seen on fluoroscopy of an infant with suspected congenital heart disease.
What is the likely diagnosis ?
Options :

L Atrial septal defect

5 % Ventricular septal defect

3 % Patent ductus arteriosus

4 % Tetralogy of fallot



